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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
| sentence. Then mark the correct choice on your answer sheet.

The book was ~=—-eeeee- by a panel of experts, working in conjunction with the publisher.
1) revealed 2) compiled 3) intervened 4) attributed
In Canada, drug users belong to high-risk insurance —-—----- '
1) entities 2) features 3) categories 4) structures
The victim was able to give the police an -———- — description of her attacker.
1) accurate 2) ultimate | 3) identical - 4) equivalent
The government passed a2 law to promote the -———- of blacks into white South African
society. |
1) integration 2) foundation 3) coordination 4) adaptation
Small businesses often have great difficulty in —----— credit from banks.
1) detecting 2) obtaining 3) pursuing 4) depositing
Feminists say that the book was written from a male —---—eev
1) objective 2) inspection - 3) perspective 4) presumption
Violence is just one of the many problems -——-— in city life.
1) explicit 2) empirical 3) available 4) inherent
Legal requircments state that working hours must nof —--——-- 42 hours a week.
1) assign © 2) exceed  3) utilize 4) undertake
The Highways Department is responsible for the construction and -——-—— of bridges and
roads.
1) equipment 2) adjustment 3) manipulation 44 maintenance
Maxwell’s responsibilities -----—— yours, so you will be sharing some of the work.

1) overlap 2) affect 3) identify 4) coincide

| PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct cheice on your answer sheet.

Since water is the basis of life, (11) ~-~---nn- the greater part of the tissues of all living things, the

crucial problem of desert animals is to survive in a world (12} --------- - sources of flowing water are
rare. And since man’s inexorable necessity (13) ---------- large quantities of water at frequent
intervals, (14) ---------- comprehend that many creatures of the desert pass their entire lives (135) -—--
----- a single drop.

1) composes 2} composing 3) it composes 4) that composing

1) which 2) that 3} there 4) where

1) 1s to absorb 2) of absorbing 3) that is to absorb 4) is absorbing
1yscarcely he can 2} he scarce can 3) he can scarcely 4) scarce can he

1}Aor 2) from 3) upon | 4) without



PART C: Reading Cumehensiun

Directions: Read the following three passages and answer the guestions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. |

Passage I:

The managers responsible for industrial production require an enormous amount of
assistance and support because of the complexity of most production systems, and the
additional burden of planning, scheduling, and coordination. Historically, this support

was provided by industrial engineers whose major concern was with methods,
standards, and the organization of process technology.

Industrial engineering originated with the studies of Taylor, the Gilbreths, and other
pioneers of mass production methods. Their work expanded into respnnmbllmes that
now include the development of work methods to increase efficiency and eliminate
worker fatigue; the redesign and standardization of manufacturing processes and
methods for handling and transporting materials; the development of production
planning and control procedures; and the determination and maintenance of output
standards for workers and machines. Today the field is characterized by an emphasis
on mathematical and computer modeling.

16- Which of the following questions is the one which paragraph 1 is mainly attempting to answer?
1) What makes managerial work as complex as it is now?
2) What is the historical development of industrial engineering?
3} What distinguishes a manager from an industrial engineer?
4) Why are managers in need of help from industrial engineers?

17- According to the passage, all of the following are part of the extra work complicating a manager’s
responsibilities EXCEPT —-----e-.

1) scheduling 2) coordination |
3} the burden of planning 4) the organization of process technology
18- The word “originated” in line 6 is closest in meaning to ——----—, '
1) stemmed 2) proceeded 3} fostered 4) established
19- Which one of the following best represents the rhetorical function of paragraph 2?
1) Classification 2) Definition 3) Function description 4} Chronological time order

20- Which of the following does the passage allude to as a recent concern of industrial engineering?
1) Mathematical and computer modeling
2) Ways to handle and transport materials
3) The development of work methods to increase efficiency and eliminate worker fatigue
4) The determination and maintenance of output standards for workers and machines
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In addition to systems engineering, it is important to define systems themselves. The
systems with which a systems engineer is concerned are first of all man-made.
Second, they are large and complex; their component parts interact so extensively that
a change in one part is likely to affect many others. Unless there is such interaction,
there 1s little for the systems engineer to do, at least at the systems level; he can tum
immediately to the components themselves. Another important characteristic of
systems is that their inputs are normally stochastic; that is, the inputs are essentially
random functions of time, although they may exhibit statistical regularities. Thus, one
cannot expect to foresee exactly what the system will be exposed to in actual
operation, and its performance must be evaluated as a statistical average of the

responses to a range of possible inputs. A calculation based on a single precisely
defined input function will not do.

What does the paragraph preceding this passage most probably discuss?

1) The parts making up a system 2) What systems engineering is

3) The importance of systems engineering 4) How the concept of ‘system’ came into being

What is the passage mainly concerned with?

1) Features of systems 2) System engineers’ various concerns

3) The importance of inputs in defining systems 4) Interactions between the component parts of systems
The word “extensively” in line 3 is closest in meaning to —-—-—-.

1) closely -~ ) largely 3) intricately 4) interchangeably

The word “others™ in line 4 refers to -——--—-.

1) change 2) system 3) part 4) interaction

The author states that you cannot predict exactly what a system will be exposed to because of the
1) unreliability of statistics 2% nature of its inputs

3) complexities of the operations 4) great number of interactions involved

The word “do” in line 12 is closest in meaning to -------—-- 3 |

1) define 2) perform 3) work 4) serve

Passage l1I: In Jooking for more recent and more specific sources for the systems approach, on the

other hand, there are two in particular that stand out. First is the general field of
communications, particularly commercial telephony, where systems engineering first
-appeared as an explicit discipline in its own right. Traces of the systems approach are
to be found in telephone engineering at least as far back as the beginning years of the
century, and systems ideas were fairly common in telephony by the 1920s and '30s.
When Bell Telephone Laboratories, the research arm of the American Telephone &
Telegraph Company, was officially incorporated in 1925, its two principal
engineering divisions were called respectively Apparatus Development and Systems
Development. A complete formal doctrine of the role of systems engineering,
however, first emerged in the years after World War II as part of an effort to redefine
the policy and structure of the research and development. This doctrine set the
engineering effort on a level of logical parity with the research and development
efforts and made it of almost comparable actual size, at least with research. The
systems engineer had a multitude of functions, with special emphasis on effective
utifization of scientific and technical advances in planning new communications
systems. This particular set of ideas, of course, reflected the special needs of
telephony. Nevertheless, as an example and a point of departure, it had a wide effect.

It seems to be one of the reasons why so esoteric a subject as systems engineering
advanced as rapidly as it did.
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The passage is discussing the systems approach in regard to its --

1) effects on other disciplines 2} areas of inquiry it involves

3) functions 4) genesis

By “two” in line 2 the author means two —------ —

1) fields 2) sources 3} systems 4) approaches

Where in the passage does the author start to discuss the second source of the subject of the passage?
1) Line 4 ZiLine 7 3) Line 10 4) Line 14

According to the passage, all of the following are true about systems approach EXCEPT that it ————.
1) progressed at a slow pace 2} is very specialized

3) fulfils a myriad of functions 4} can be traced to the field of communications
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